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5.  ( ) 
.  00

3600  300 (  = 00, 300, 600…3600 ).
6. .

, . 1; 
 – 1.

 2- , 
. 

,
 – D. 

q, 
1.

, , 
1

). .

: q =  4,8  , 1 =  1,5  ,  =  1  , a =  1,2  ,
= 60 .

: RAX ( ), RAY ( ), RA ( ), RCX ( ), RCY ( ), R ( ), RB ( ),
MA ( ).
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- :  BD – ,
BR  BD ( .1),  – 

, CX CYR ,R  ( .3).
, BQ,R , CX CYR ,R  –

,    
:

FKX = 0,
FKY = 0,

 C( kF ) = 0.
      2 ( . . 3):

1) FKX = RB + RCX – Q sin  = 0,
2) FKY = RCY – Q cos  = 0,
3)  C( kF ) = Q 2,5a – RB  5a sin  = 0.

 3 ( ) ( . 4)

. 4

:
- , : 1 P ,

;
- :   – ,        

 ( ,    
    AX AY R ,R ) 

;  – ,

CX CY R ,R  ( . 4).
 3:

4) FKX = RAX – R’CX + P1 cos  = 0,
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5) FKY = RAY – R’CY – P1 sin  = 0,
6) M C( kF ) = M + MA – (P1 sin )3a + RAY 5a = 0.

, , R’CX =
RCX R’CY = RCY  ( ).

RB + RCX – Q sin  = 0,             (1)
RCY – Q cos  = 0,             (2)
Q 2,5a – RB 5a sin  = 0,             (3)
RAX – RCX + P1 cos  = 0,   (4)
RAY – RCY – P1 sin  = 0,             (5)
M + MA – P1 3a sin  + RAY 5a = 0.                       (6)

.
 (2)  (3) :

RCY = Q cos ,             (7)

RB = Q
2sin

 (8)

RCY  (5), : RAY – Q cos  – P1 sin = 0,

RAY = Q cos  + P1 sin             (9)
 (6):

MA = P1 3a sin  – M – (Q cos  + P1 sin )5a =
= – M – Q 5a cos – P1 2a sin

:
MA = – M – Q 5a cos  – P1 2a sin            (10)

 (1) :

RCX = Q sin  – RB = Q sin  – Q
2sin

RCX = Q(sin  – 1
2sin

)           (11)

,  (4) RAX:
RAX = RCX – P1cos ;
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RAX = Q(sin  – 1
2sin

) – P1cos           (12)

 (7)…(12) 
,  –  (

Q = 5q a),  – .

, , .
 (7)…(12) ,

:

Q = 5q a = 5 4,8 1,2 = 28,80;             ( )
RAX = 8,31 – 1,5cos ; )
RAY = 14,40 + 1,5sin ;           ( )
RB = 16,63; )
RCX = 8,31; )
RCY = 14,40; )
MA = – 87,4 – 3,6sin .           ( )

 1, 
. 5.

 RA  RC :
2 2 2 2

A AX AY C CX CYR R R , R R R ;

                                RB = RC;
 1

RAX
)

RAY
)

RA
)

RCX
)

RCY
)

RC
)

RB
)

MA

(H )
0 6,81 14,40 15,93 8,31 14,40 16,63 16,63 -87,40
30 7,01 15,15 16,69 8,31 14,40 16,63 16,63 -89,20
60 7,56 15,70 17,42 8,31 14,40 16,63 16,63 -90,52
90 8,31 15,90 17,94 8,31 14,40 16,63 16,63 -91,00
120 9,06 15,70 18,13 8,31 14,40 16,63 16,63 -90,52
150 9,61 15,15 17,94 8,31 14,40 16,63 16,63 -89,20
180 9,81 14,40 17,42 8,31 14,40 16,63 16,63 -87,40
210 9,61 13,65 16,69 8,31 14,40 16,63 16,63 -85,60
240 9,06 13,10 15,93 8,31 14,40 16,63 16,63 -84,28
270 8,31 12,90 15,34 8,31 14,40 16,63 16,63 -83,80
300 7,56 13,10 15,13 8,31 14,40 16,63 16,63 -84,28
330 7,01 13,65 15,35 8,31 14,40 16,63 16,63 -85,60
360 6,81 14,40 15,93 8,31 14,40 16,63 16,63 -87,40
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R( ),  (H)

MA ), H·
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 2. 

: P2 = 10 H, P = P’= P1.

P1 (H) qmax (H/ ) q (H/ ) M (H ) a ( ) KE ( )  o o

1 1,5 1,0 4,8 1,0 1,2 0,6 60 45
2 2,0 1,2 4,6 1,2 1,4 0,8 45 30
3 2,5 1,4 4,4 1,4 1,6 1,0 30 60
4 3,0 1,6 4,2 1,6 1,8 1,2 45 30
5 3,5 1,8 4,0 1,8 2,0 1,4 60 45
6 4,0 2,0 3,8 2,0 2,2 1,6 30 60
7 4,5 2,2 3,6 2,2 2,4 1,8 45 60
8 5,0 2,4 3,4 2,4 2,6 2,0 30 45
9 5,5 2,6 3,2 2,6 2,8 0,6 60 30
10 6,0 2,8 3,0 2,8 3,0 0,8 30 45
11 6,5 3,0 2,8 3,0 3,2 1,0 45 60
12 7,0 3,2 2,6 3,2 3,4 1,2 60 30
13 7,5 3,4 2,4 3,4 3,6 1,4 30 45
14 8,0 3,6 2,2 3,6 3,8 1,6 60 30
15 8,5 3,8 2,0 3,8 4,0 1,8 45 30
16 9,0 4,0 1,8 4,0 4,2 2,0 45 60
17 9,5 4,2 1,6 4,2 4,4 0,6 30 60
18 10,0 4,4 1,4 4,4 4,6 0,8 45 30
19 10,5 4,6 1,2 4,6 4,8 1,0 30 45
20 11,0 4,8 1,0 4,8 5,0 1,2 45 60
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